STATISTICS WORKSHEET GRADE 10
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1. Find the mean of the following frequency distribution :

Class 020 [ 2040 [ 30:60 [ 6050 [ 50-100
Frequeny | 15 | 18 | 21 [ % [ 17

2. Find the mean of the following frequency distribution :

Class Tnterval | 1030 | 30-50 [ 5070 | 70:90 [ 0-110
Frequency | 90 | 20 | 30 [ % | 40

3. Find the mean of the following frequency distribution :

Class Iterval | 020 | 2040 | 30-60 | 60-50 [ 50-100 [ 100-120
Frequeny | 20| 35 | 2 [ @ [ % |

4. Find the mean of the following frequency distribution :

Class [ [F-12 [ 1216 [ 16:20 | 20-28 [ 3435 [ 5333236

Noofsmdenis | 3 [ 12 | 15 [ 35 [ oW | 13| 3

5. Find the mean of the following frequency distribution

Class verval | 0-50 | S0-100 | 100-150 | 150-200 | 200350 | 350300
Freqency | 17 | 35 [4ai0] 40 | a1 |
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6. Compute the mean for the following data

Varks (less tham) |10 [ % | 301 40] 50
Noof smdens | [19 |35 |47 58
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7. Compute the mean for the following data

ks (Maretamy] 0 |10 20 30 [#0]50
No.of sudens_[100[55[70[20] 5 [0

8. Ifthe mean,of the following distribution is 54, find the value of p :

Tlass 020 [ 2040 [ 30:60 [ 6050 [ 50-100
Freueny | 7 [ p [ 0 | 9 [ 13

9. If the mean of the distribution is 57.6 and the sum of its observations is 50, find the missing
frequencies £} and fo.

Class 920 | 2090 | 30-60 | 60-50 [ $0-100 [ 100-120
Frequency | 7 | 7 | 12

10. The mean of the following frequency table s 50. But the frequencies fi and 3 in class 20-40 and
60-80 are missing. Find the missing frequencies.

Class 020 | 2090 | 30-60 [ 60-80 | 50-100 | Toral
Freueny | 17| 7 | 32 | 7 | B 10





